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®,=arg(gy 85, )=P_— % modm

(instead of ¢, _ modm).
As a consequence, the CP-violating asymmetry given by Eq. (26),
|

8E1

(A4)=15% cos®,+38% cos®,
Em1

’

is (14.3%1.3)%, significantly larger than the result (3.8+1.4)% stated in the paper.
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PACS number(s): 14.20.—c, 14.40.—n, 14.60.—z, 14.80.—j, 99.10.+¢g

On page IIL.5 (and on page 205 of the Particle Properties Data Booklet), in the table on Atomic and Nuclear Proper-
ties of Materials, the radiation length for SiO, should be 10.2 cm. The radiation length in g/cm? is given correctly. The
line should read

SiO, (quartz) 67.0 99.2 1.72 27.05 10.2 2.64 1.458

In the expression on page II1.36 relating InL to the x* sum, a constant was omitted. The equation should read

N [y, —F(x;;a))?
= —%lni-i-const:z[i—z'——k
1 g

(2.9)

The expression is given correctly in the Particle Properties Data Booklet.
The two structure function definitions for F; given on page II1.52 contain an extra factor of x. For the reaction
e; p —vX the expression should be

F3:Z[fu(xyQ2)+fc(x7Q2)+ft(x’QZ)_fJ(x’QZ)_ff(xygz)_fE(x’Qz)] >
and for vp —e ~ X the corrected expression is
Fy=2[f,(x,0)+ £ (x,0)+ f,(x,0°)— f1(x,07)— f(x,0")— f(x,0M)] .

The expressions are given correctly in the Particle Properties Data Booklet.
On page V1.29, the title for the section on the 7 decay parameter

AXIAL VECTOR COUPLING CONSTANT RATIO g, /g 4
should be changed to read
v,/a,., RATIO OF COUPLINGS TO Z.

Similarly, on page I1.3 (and on page 12 of the Particle Properties Data Booklet), the T decay parameter should read

v,/a.=0.01£0.04 .



